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2 B2 F | 3,300 3,300 0
AtS 22l 3,300 3,300 0
O 1. get+=2d| 1,100
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O3 2Z= 2,200
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50,000 * 2 = 23| 2,200
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O &2 408 It&EX ¢ HE 228 250,000
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SEXE 2829 3,000 3,000 0
201 gBt24d| 3,000 3,000 0
02 =224 H| 3,000 3,000 0
O1. 2222 % HMA 800
—ANsSiM(EEsE) 85,000 ~ 1CH 85
—NEX BB (=585 715,000 = 1CH 715
O 4. XHgE - HBr| 2,200
— ISR IH(=EESE) 1,200 = 1,0004 1,200
— X2 H (=8 sE) 1,000,000 = 1CH 1,000
ZOoHHZ S AIE AUl Z A 50,000 0 50,000
401 AlEHIZL 2 0HY| 50,000 0 50,000
01 Al& H| 50,000 0 50,000
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=P 2 EWPEE FUXIA 24 250,000 0 250,000
401 A& HI L E0HHI 250,000 0 250,000
01 A& H| 250,000 0 250,000
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—HHEH s FHZey 23
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401 AIEHIZ 28I 60,000 20,000 40,000
01 A& Hl 60,000 20,000 40,000
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A 60,000
AAI A MG 22l 10,000 0 10,000
405 XHoHE S HI 10,000 0 10,000
01 et EFH S 10,000 0 10,000
O HEIIHZBSAMHGES L2 AAE 2 10,000
HE2IAH (AE) 83,060 79,316 3,744
|23 (A1) 83,060 79,316 3,744
Jl2ZH (A &) 83,060 79,316 3,744
201 Let24d] 15,620 15,236 384
01 At 2teltl 15,620 15,236 384
O 1. Let=ZH| 8,324
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RN 12,000 » 15 = 128 144
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— =AM EH 100,000 » 1CH * 43 400
—ZDEH A23 250,000 = 4CH * 43| 4,000
—SAEEI EUH 200,000 * 1CH = 13 200
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202 O4dl 63,840 60,480 3,360
01 =S LHA YI 63,840 60,480 3,360
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20,000 *» 1998 = 14 = 123 63,840
203 PR =&l 3,600 3,600 0
04 2SI HR2F=EHI 3,600 3,600 0
O A& 300,000 = 12& 3,600




